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QUESTION 1

For each of the following statements, select Yes if the statement is true. Otherwise, select No. Each correct selection is
worth one point.

Hot Area:

Answer Area
Test Behavior Yes Mo

The primary goal cf unit testing is tc take the smalles:

pece of testable software in the application, isolate it O O
from the rem ainder of the code, anc determine

whether it behaves exactly as expecied.

In unit testing, each unit s tested separately before
irtegrating the unis into modules to test the & o
interfaces between modules.

The driver that youuse in unit testing simulates a

calling unit and the stub simulates acalled unit Q ©
Hot Area:
Answer Area
Test Behavior Yes No

The pnmary goal cf unit testing is tc take the smalles’

pece of testable software in the application, isolate it O O.
from the rem ainder of the code, anc determine =
whether it behaves exactly as expecied.

In unit testing, each unit is tested separately before ;
integrating the unis inte modules to test the _C" o
interfaces between modules.

The dnver that youuse in unit testing simulates a P
calling unit and the stub simulates acalled unit. 1O O
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Correct Answer:

Answer Area
Test Behavior Yes Mo

The pnmary goal cf unit testing is tc take the smalles:

pece of testable software in the application, isolate it o O
from the rem ainder of the code, anc determine

whether it behaves exactly as expecied.

In unit testing, each unit s tested separately before

integrating the unis into modules to test the | o | O
interfaces between modules.

The driver that youuse in unit testing simulates a | =
calling unit and the stub simulates acalled unit | Q| ~

QUESTION 2

Which term is used to describe a class that inherits functionality from an existing class?

A. Superclass

B. Base class

C. Inherited class

D. Derived class

Correct Answer: D

Classes (but not structs) support the concept of inheritance. A class that derives from another class (the base class)

automatically contains all the public, protected, and internal members of the base class except its constructors and
destructors.

QUESTION 3

The Dog class and the Cat class inherit from the Animal class. The Animal class includes a breathe() method and a
speak() method. If the speak() method is called from an object of type Dog, the result is a bark. If the speak() method is
called from an object of type Cat, the result is a meow.

Which term is used to describe this object-oriented concept?
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A. multiple inheritance
B. encapsulation

C. polymorphism

D. data hiding

Correct Answer: D

QUESTION 4

You are designing a class for an application. You need to restrict the availability of the member variable accessCount to
the base class and to any classes that are derived from the base class.

Which access modifier should you use?
A. Internal

B. Protected

C. Private

D. Public

Correct Answer: C

QUESTION 5
This question requires that you evaluate the underlined text to determine if it is correct.

Convening an object to a more general type is called upcasting. Select the correct answer if the underlined text does not
make the statement correct. Select "No change is needed\\'\\' if the underlined text makes the statement correct.

A. No change is needed
B. downcasting

C. interfacing

D. flexing

Correct Answer: A
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